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1. oo fral RescaRs =/ 0% Teach! = 391 : 1x6=6

Choose the correct answer from the following
alternatives :

(@) <1 WEI TuEs SR Tt B
@RI = '

A subgroup of the population that is to
be studied is called

(i) aforf
sample

() 9>
data
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(b)

(c)

P25-
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(iii) 2Aforfe
statistic

(iv) 8°RT B0
All of the above

9Bl IBT TSR PoF T |

The second quartile of a distribution is
same as the

() Tor wie
2nd decile
(i) SN
median
(iii) 25 O *ORF
25th percentile
(iv) 75 OF OR¥E
75th percentile

i By >3 W, (SR IGADE (PR W

If B, >3, then the distribution is said to
be

() @SS
leptokertic
(i) CRFIHS
mesokertic
(i) cafbelte
platykertic
(iv) WS
symmetric
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(3)

(d) P @b s aIeT 32eT YW 29

The maximum value of Spearman’s rank
correlation coefficient is

i O
@ +1
(i) -1
(iv) +3
(€) TWERY BMF TGl by WF b, A, DT
BIMF 7T

If the regression coefficients are b and
b,, then the correlation coefficient is

() b /b,
(@ by /b
(@) bb,
(iv) £\bb,
() F11 ReRIeF ~Rre o SRR o9 (P!
ey Y seer 2

The condition for the time reversal test
to hold good with usual notation is

i () FPoyXBo=1
E (ll) Plo X POI =0
’ (i) Py, /B =1
d )
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2. e il epTges KFPY Tew fim 2x6=12
Answer the following questions in brief :

(@) THRIT OIS BIE NF TRATE U7 TES
AL T |
Differentiate between qualitative and
quantitative data with examples.

(b) 29 I @ RS TR 2[ 5579 TR
BT I * |

Prove that algebraic sum of the
deviations of a set of values from
arithmetic mean is zero.

(c) b1 ¥ Reseiom R afiEpme s |
What are the characteristics for an ideal
measures of dispersion?

(d) =TT BN TT Sfves |

Derive the limits of correlation
coefficient.

(e) T e TR SWREET @1 ToE Caw
3x+2y=26 W® 6x+y=31 r,d TN
Sferaay |

Two random  variables have the
regression lines 3x+2y=26 and
6x+y=31. Find Toy- '

(N T e, RN wwefs S ae
AR e B

Define price relatives, quantity relatives
and value relatives.
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3. (@) ARRR A9 @NFIT G ORI ferca
3@ 7 TRERS I T FRed [
R TR N 2 R PR [RFw e
WAl TN HE G2 EIRERT ARG o
SPIRUICIRS T=ocFS S ST 397 |

2+2+4+4=12

What do you mean by classification and
tabulation of statistical data? What are
the graphs that are used for presenting a
frequency distribution? Discuss each of
them briefly. Also, discuss briefly the
advantages and disadvantages of these
graphs.

91T/ Or

(b) PR SepmE (o Riea woprE & R0

SRS STRIPR TSRS R 54t3 a0 41 |
3+9=12

What are the different types of

measuring scale to measure statistical

data? Explain briefly each of them with
suitable example.

4. oS frACes o[ R @I hl s Tey fan
10x2=20

Answer any two questions from the
following :

(@) 357 @OF &N eRel A B oqE,
) ER 2T AEE SEe 9 1 @61 e
ER 2Rl T AR N PR B R
TG, VO S[F TP WG T Bk e
O (T W[F QAR A T SICaseq
kil 2+2+2+1+3=10
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(b)

()
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(6)

Explain what you mean by central
tendency of a distribution. Mention the
measures of central tendency. What are
the properties of an ideal measure of
central tendency? Write the relation
between mean, median and mode.
Discuss briefly the merits and demerits
of them.

Bl P RPN WA @NEeR R0
ReeoR WP TERee SEy w1 9T
Roei e e Roeiwe T I AP
A 90 | (S @ YA R A (AR RS
SCACE e vere Reeers |

What are the characteristics for an ideal
measure of dispersion? Write the names
of different measures of dispersion.
Explain the main difference between
mean deviation and standard deviation.
Show that standard deviation is
independent of change of origin and
scale.

PR S (PR S e R 1 e E g
CTR YT SIS 47N F | ST TeEy
IR IGAT AR AW G R WS
PS4, ROl WIF PO (FTW WY W

10

Tferear: 4+3+3=10

Define raw and central moments.
Express central moments in terms of
raw moments. Find the first, second and
third central moments from the following
values of first three raw moments
obtained from a frequency- distribution :

n)=-0-22, u5 =1-34, u5 =-0-58
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({ Additional 10 marks for 2023 Batch )

5. oot fAART A9 R PR Y51 ofd TR i

5x2=10
Answer any two questions from the
following :
(@) & Poaws TR edes TR Rl

(b)

P25/477

(ST @ W QN TRY WF V@l
ARG fRTCoFF | 2+3=5

Define Karl Pearson’s coefficient of
correlation.  Show that correlation
coefficient is independent of change of
origin and scale.

Sk Y kw9t fass 9%es
(FIS (et A 2+3=5

7 E Tia ~N3723
123 =77 5 )
VA -3t —7p3)

Define partial correlation coefficient. For
a trivariate distribution, show that

N2 —N37a3
[/ 2 2
VA ~13) (L -7y3)

o3 =
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(c) @B SRECER TPIGT CFqS Ped I AHOCH!
[N I y=a+bx+ox? e wfegech!
SPigH P9 A0 PTG FRFICFLD! &4 |

3+2=5
Explain the method of least squares for
fitting of a straight line. Write the normal
equations for fitting of the second degree
parabola y=a+bx+cx2.

(d) = =0 FE B g pe ok R
e Ted (@Rl edqW SPfRepE R amm
91 1+4=5

What is index number? What are the
major problems involved in the
construction of index number? Explain.

%* % %
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